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Question 2


The Marginal Productivity Theory helps to identify the amount of labour a firm would employ at a given wage.  Firstly, we need to make several basic assumptions: employers of labour are profit motivators, labour market is perfectly competitive, all units of labour are perfectly homogeneous, factors can be combined in variable proportions, labour is the only input, and the marginal physical product (MPP) of labour is measurable.  Marginal Revenue Product (MRP) is the addition to total revenue by selling the extra output when one more unit of labour is employed.  It is affected by MPP and Marginal Revenue (MR). (MRP = MPP x MR). Another important thing to note is that the MRP theory only analyses the demand for factors, ignoring the supply side.

 
Based on the assumption that the medical industry and tourism industry are perfect competitive labour and product markets, thus, firms can buy as little or as much of the labour it wants at the price determined by the labour market.  It is a price taker and the market wage, W, is determined by the intersection of the demand and supply of labour, as shown in Figure 1.  




Changes in wage rate is caused by shifts in the demand and supply curve. The market demand for labour is aggregate of the quantities of labour demanded by all the firms in the industry at a given wage rate. According to the MRP theory, MRP is the firm’s labour demand.  Hence, any factors that affect MPP and MR will cause the demand for labour to change.

During the SARS outbreak, there is a sudden increase in the number of patients being admitted to the hospital.  More people are also visiting the doctor to ensure that they are not infected by SARS.  Hence, there is an increase in the demand for doctors and nurses, resulting in a rightward shift of the labour demand curve, leading to higher wages.  This is shown in figure 2.

More sophisticated and advanced medical equipment are employed during the SARS period so as to cope with the large numbers of patients.  Thus, it raises the MPP of the worker, which in turn shifts the demand curve to the right, resulting in an increase in wages.

As people were afraid of contracting SARS, many medical workers quit their jobs during this time.  Thus, there is a decline in the labour supply of medical workers, resulting in a leftward shift of the supply curve and hence an increase in wages.  (Refer to fig.2)

Being a nurse or doctor involves long working hours and little time for rest.  Especially during the SARS period, these medical workers are exceptionally busy as they have to cope with a large number of SARS patients and monitor their condition closely.  Thus, few people are willing to enter the industry, causing a fall in labour supply.  This leads to a leftward shift of the supply curve and result in higher wages, which is shown in figure 3.

During the outbreak of SARS in Singapore, the tourism industry was affected severely. This is mainly due to the drop in the number of tourists visiting Singapore. Thus the number of tour trips that are organized by the travel agencies will decrease as there are not enough tourists to justify the original higher number of tours. The number of employees needed to run the tour agencies will be smaller, as there is less administrative work to do and fewer tours are made. This results in an abundance of employees in the travel agency. Hence the quantity demanded (a movement along the curve )will decrease, thus the wages will also decrease. 
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On the other hand, there will be a shift in the demand curve. As shown from figure 1, the original situation without the SARS outbreak is found at A. The original demand is Q1, and the intersection of the demand curve with the supply curve is the equilibrium point A. The resultant price is thus given as P1. However, during the SARS outbreak, the number of tourists will fall. Since this fall is caused by outside factors other than a change in the price, ceteris paribus, the demand curve will thus shift leftwards. The demand curve now intersects the supply curve at B. The demand is now lower, given as point Q2. The equilibrium price is now lower, as given by a lower equilibrium point B. Thus the price has to be set lower at Q2 in order to prevent a loss. Hence the lower price forces the marginal profits to be lowered, therefore in order to prevent making too great a loss, the total operating costs has to be reduced, and the easiest and most effective way of reducing the costs is to reduce the employees’ wages. 
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Figure1: Wage Determination in a Perfectly Competitive Labour Market
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